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Find the volume of the solid generated by x = 0, x = 4, y = 0, and y = 3 revolved about the x-axis.
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Find the volume of the solid generated by x =0,x =4,y =0,and y = 1 revolved about the x-axis

Vole = TIS (l'—o) Ax % (X,£(x))

(xig(x))2 %“V("is of revolution &

(x,f(x))

v ——

::T\'S
=T‘(x3lo

Ti(4-0) = [y

Find the volume of the solid generated by x = 0, x = 4, y = 1, and y = 3 revolved about the x-axis.
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Volume of a Solid Washer Method

Revolve around an x-axis (or a horizontal axis)
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Example 1:
. Find the volume of the solid formed by revolving the area of the region bounded by y = 2x, y = 4,
and x = 0 about the x-axis. 2 79 x
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* Example 2:
Find the volume of the solid formed by revolving the area of the region bounded by y = 2x, y = 4,
. and x = 0 about the line y = 6.
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Volume of a Solid Washer Method

Revolve around an y-axis (or a vertical axis)
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° Example 4:

. and x = 2 about the line x = —1.

Example 3:

. Find the volume of the solid formed by revolving the area of the region bounded by y = x2,y = 0,
and x = 2 about the
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Find the volume of the solid formed by revolving the area of the region bounded by y = x2,y = 0,
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